=) UPCOMING ONLINE BATCHES

07 SEP 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

September 2022

14 SEP 2022 21 SEP 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

28 SEP 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

N 7052477777/7052577777



CGL/CHSL/CPO - 2022-23

AVERAGE
(sirerer) s

LIVE | 02:00 PM By Sunil Mahendras |




Sum of terms

Average =

Number of terms




x-1: Find the average of first 10
hatural number ?

- (B)5.5

(C)6
(D)4.5




)
Ex-2: Find the average of first 40
natural number ?

3al- UYH 4(0 TP fd® JSAT BT 3fd
?
— (B)20.5

(C)
20.25
(D)25




Ex-3 Find the average of first 100
nhatural number ?

3aTl:- UYH 100 UTHTdd AT T 3fHd
(@Eﬁﬁm

(B)51

L 8C)50'5
(D)51




Ex-4: Find the average of all even
number up to 100 ?
3eT-- 100 9 3 T T s &1

_3NggsyTa Bifere?
(B)50
8C)50 5

(D)52




Ex-5: Find the average of all odd
humber up to 100 ?

3al:- 100 dP DI I faug I=maii o1
aﬁjﬂgg?raﬂﬁm

B)50
b écgso.s

(D)51




(A)150
(B)143.
- 5

(C)150.
50
(D)151




- (B)200
0

8C)250
(D)240
0




Ex-8: The average of 5 consecutive
number is 20. Find the largest number?
3GI:- 5 TR HAT BT 37T 20 B
9] I3 I=AT JTd Piford?

(A)26
(B)24
(C)18

- (D)22




a

Ex-9: The average of 5 consecutive odd

numberis 61. Find the largest number?

3al:- 5 TR fauq HWT BT 3N 61
g1 99 JSI ST JTd BIera?

(B)59
(C)63
(D)57

— (A)65




@

X-10: The average of 4 consecutive
even number is 27/. Find the largest
humber?
3GI:- 4 TAMTAR G HBAT BT 3 27

g1 9 TS AT JTd BIford?

= (A)30
(B)24
(C)22
(D)32




@ X-11:In a set of three numbers, the average of first two
numbers is 2, the average of the last two humbers is 3, and the
average of the first and the last numbers is 4. What is the

average of three numbers?

oI | I=ATei & maﬁmaﬁwzé
arﬁna’rmaﬁmgamr% aﬁ?ﬂ@d’raﬁ?arﬁnmaﬁm

64 &1 A @13 BT NG T =2
== (B)3
(C)9
(D)4




-12: If the average of m number is n? and the average of n
number is m? the find the average of the (m + n) ?
3IT:- gfe m =T BT 3 n2 § 3R n TAT BT 3Td m2 (m+
(A)m n) oI 3T FTd B2 \
(B)n
(C)mn

l == (D)mn/
* :




"GL/CHSL/CPO - 2022-23
@3 TR Average Income of ‘“ < C is Rs.12,000 per month
and average income of B,C & D is Rs.15,000 per month. If the
average salary of D be twice that of A, then find the average
salary of B and C?

A, B & C &1 3N9d 3T 12,000 ¥ Ufd |18 3MR B, caD |
ﬁaﬁw%%@owﬁuﬁrmélmomaﬁwamAﬁ

3 B 3fiR C T 3Nd ad= JTd D ?
- (0
(C)125
00

)
13000




CGL/CHSL/CPO - 2022-23
-14*The average age of 36 stude 1ts is 15 years. When
teacher s age is included to it, the average increased by 1.What
is the teacher’s age?

3aT:- 36 BT B NG 3G 15 94 71 9F &1 B 31 &I
wﬁ‘m&mmm% af ofiga H 1. Riere o emy fora

glell 87

(A)51
(B)50
- (C)52
(D) 49




CGL/CHSL/CPO - 2022-23 *
@x 15"The average monthly salary of 20 employees in an
organization is Rs. 1500. If the manager's salary is added then

the average salary increases by Rs. 100.. What is the manager's

monthly salary?
Wﬁzoﬁﬁmé'q‘rmaﬁwmmamwoo
:aqﬁiélumatmﬂmaﬂaﬂﬁianﬁtgrGnanénﬁtaﬁvﬁiaMFi1oo<5qa'_

amﬁﬁgﬂ&ﬁu1ua%ﬁ52511nﬁaas€Rrainnr%?

0
(C)210
- 0

(D)
3600




=x¢16: The average weight of 10 persons decreases by 2.5 kg
when a new person comes in place of one of them weighing 70

kg . What is the weight of new person?
«» B‘c{r:-matr!%m‘fwraﬁwaﬁ#z.s%ﬁmme‘rm%,
o9 TS 9T Afad 70 fhaumd a1 &1 g1 g | 1T Afad &1

9o T 872
- (A)45
(B)95
(C)65
(D) 55




a

when a hew person comes in place of one of them welghlng 65
kg. What might be the weight of the new person ?

| Il 8 AR BT ST aol 2.5 PaAI 9 oIdl 8, o9
www%ess%ﬁumamm?m%ww%mm

T 8l ghdl
- (A)85
(B)40
(C)65
(D) 95







